— AN
o] A
E s

s}

EX- 1

AQNAT U o REAG A, B o Hstd n(U) =
40, n(A) =19, n(B) = 27 °|2 n((AUB)) = 3
A o, n(A°U B) & F5todzt,

n(A) =10, n(A—-B) =4 ¢ W n(ANB) 9 &=
T-ohodet.
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6. HALFU = {z|zt 8ETF 22 AAF) o] F 1
A& A, B ol tisto]
A-B={2,3},B—A={4,5},AnB = {6} 2 1,
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9. ogF &L e 2E 120 (A 27)

@ n({0}) =1
@ {a, b} €{a, b, c}
® oe{l, 2 3}

@ n({0}) <n({1})

® n({]-v {27 3}’ 4, 5}) =4

10. & A% A, Bell Hste] A = {1, 3, 5, 7, 9, 11},

=g o= § &4

D XcA
® {59} cX

® (ANB)c XCB

{5,9,14} o] ANX = X, (ANB)UX = X &

Oro AS BT 12w (AY

@ X c(ANDB)

@ (AnB)cXcCA
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T A A, B o tisteo] A= {11, 13, 15, 17}, AU
B = {11, 12, 13, 14, 15, 16, 17} , AN B = {11}
A uf, A B & Tt}

T At A =1{1, 3,5}, B=1{2 4,6} tisto]
z {abla e A, be B} 4 o, g C o] 949

AART U o] Al BT A, B,C ] tisto] (4 -
B)U(B-C)U(C—-A)=@o °]th A={1,2,3} &
o}, n(B) x n(C) 2] gt F-otofzt,

® nA-0C)=0
nO) iy
@ S X n(B) =n(C)
@ n(ANC)=n(B)
@ A0
® n((ANC)-B)=n(AUBUQ)
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@ AUA°=U

O A-U=0

@ AcCU

®Ue=U-A

OU-A+2




